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1. A—RAEBERSFHHAK, M AR =60mm, #H/AK%EEB=60mm, %
FL##+ A ZCuAl10Fe3, % K :

(1). L HAAE = 36000N, #:i&n = 150 r/minit, KA H AL T #H R IERARE G

B AR OGAE R S

(2). & EATE. = 36000N &}, K49 i44EiEn;

(3). LahAgsEign = 960 r/mink}, Kih g5 BTF ;

(4). K69 R AHF R Npaxo

1. If there is a mixed friction journal bearing, where the shaft journal diameter d =
60mm, the width of the bearing B = 60mm, and the material of the bearing shell is
ZCuAl10Fe3.

(1) If the load F. = 36000N, and the shaft speed n = 150 r/min, does the bearing
meets the standard for non liquid lubricated bearings in this working condition?

(2) When the load E. = 36000N, find the allowable speed of the shaft, n;

(3) If the speed n = 960 r/min, what is the allowable load, E.?

(4) What is the maximum allowable speed, 1,4, ?
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2. —4ih E B A — 6313 R A skEh K, AR L6 71 4TRy = 5500N. A =
3000 N. R, =6500N. A, =0, H#igkn=1250r/min, EiaH BMFF,
AR F4p-Ly, = 5000 ho X \7})?17?;@7%;5 A A

A pair of type-6313 deep groove ball bearing is assembled on a shaft, and the loads on
the shaft are R, = 5500 N. A; = 3000 N. R, = 6500N. A, = 0. The speed of the
shaft n = 1250 r/min, and slight impact exists during the operation. The life
expectancy for the shaft and bearing L, = 5000 h. Please analyze whether the bearings
meets the standard.
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Yo B BT, —ARAh A A A AR R4 K 3K, L1=50mm, L2 = 150mm, % s54F A
4% 71 FA = 800N, 426 7 Fr = 1500N. X 4% K & 7 4 B K % 69 42 87 51 #7R1,R2, VA
B Ahe {ATAL Az, (KA 3R%hw /7S = 0.7R)

As shown in the figure, a shaft is supported by two angular contact ball bearings, where
L1 =50mm, L2 = 150mm, the axial force Fa = 800N, radial force Fr = 1500N. Please
find out the radial load R1,R2, and axial load A1, A2 for the 2 axis. (the axial force inside
the bearings are S = 0.7R)
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o B BT 694N A RAR B £ A4, TheAE -3 4 B A £dm = 56.25mm, B
= & J& #7 Ft = 1130N, 42 /) Fr = 380N, %415 7 Fa = 146N.

(1) & 4695 h /B,

(2) HHE ZARRS;

() BB TIER.. GRS HEEHREEH,

A driving shaft of a bevel gear reducer is as shown in the figure below. The pitch circle

diameter for the bevel gear dm = 56.25mm, the circumferential force Ft = 1130N, the

radial force Fr = 380N, the axial force Fa = 146N.

(1) Please draw the simplified force diagram of the shaft.

(2) Calculate the bearing reaction.

(3) Draw the bending moment, the resultant bending moment, and the torque on this
shaft.
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Deadline of this homework: Nov 21 @ 23:30

Link to submission:
https://ancorasir.com/?page 1d=3987

All homework MUST be hand-written.
No late submission is allowed!

Please refer to the above link for further details on how to

make the submission and the detailed deadline for submission.
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